10: Investment Tools: Financial Statement Analysis: Liabilities
1.A: Analysis of Income Taxes
	
	Question ID: 24692
Which of the following statements is TRUE? Income tax expense:


	
	A.
	and income tax paid are similar.


	
	B.
	is the reported net of deferred tax assets and liabilities. 


	
	C.
	is the amount of taxes due to the government.


	
	D.
	includes taxes payable and deferred income tax expense. 

	
	
	


D

Income tax expense is defined as expense resulting from current period pretax income. It includes taxes payable and deferred income tax expense. Income tax paid is the actual cash flow for income taxes, including payments or refunds for other years and may differ from income tax expense. Taxes payable are the amount of taxes due the government. 
	
	Question ID: 24690
Which of the following statements is a CORRECT description of valuation allowance? Reserve:


	
	A.
	created when deferred tax assets are greater than deferred tax liabilities.


	
	B.
	against deferred tax liabilities based on the likelihood that those liabilities will be paid.


	
	C.
	against deferred tax assets based on the likelihood that those assets will be realized.


	
	D.
	created when deferred tax liabilities are greater than deferred tax assets.

	
	
	


C

Valuation allowance is a reserve against deferred tax assets based on the likelihood that those assets will be realized. Deferred tax assets reflect the difference in tax expense and taxes payable that are expected to be recovered from future operations.
	
	Question ID: 24686
A tax loss carryforward is the:


	
	A.
	net taxable loss that can be used to refund paid taxes from the previous year.


	
	B.
	difference of deferred tax liabilities and deferred tax assets.


	
	C.
	net taxable loss that can be used to reduce taxable income in the future.


	
	D.
	difference of taxes payable and income tax paid.

	
	
	


C

difference of taxes payable and income tax paid.
	
	Question ID: 24688
The difference in income tax expense and taxes payable is a:


	
	A.
	deferred tax asset.


	
	B.
	deferred income tax expense.


	
	C.
	timing difference.


	
	D.
	deferred tax liability.

	
	
	


B

Taxes payable is defined as the taxes due the government as determined by taxable income and the tax rate, while income tax expense is the amount actually recognized on the balance sheet. Deferred income tax expense is defined as the difference in income tax expense and taxes payable. Each individual deferred item is expected to be paid (or recovered) in future years.
	
	Question ID: 24691
Which of the following statements about tax deferrals is FALSE?


	
	A.
	Taxes payable are determined by pretax income and the tax rate.


	
	B.
	Income tax paid can include payments or refunds for other years.


	
	C.
	Tax deferrals are created due to the difference in financial and tax accounting.


	
	D.
	A deferred tax liability is expected to result in future cash outflow.

	
	
	


A

Taxes payable are the taxes due to the government and are determined by taxable income and the tax rate. Note that pretax income is income before tax expense and is used for financial reporting. Taxable income is the income based upon IRS rules that determines taxes due and is used for tax reporting.
	
	Question ID: 14962

It is CORRECT to say that deferred taxes:


	
	A.
	are not found on the liability side of the balance sheet.


	
	B.
	result from permanent differences between taxable and reported earnings.


	
	C.
	will decrease only when a cash payment is made.


	
	D.
	arising from depreciation of a particular asset will ultimately reduce to zero as the item is depreciation. 

	
	
	


D

	
	Question ID: 14971
Accelerated depreciation results in:


	
	A.
	lower taxes in the early years that are not reversed in the future.


	
	B.
	higher taxes in the early years that are then reversed in the future.


	
	C.
	higher taxes in the early years that are not reversed in the future.


	
	D.
	lower taxes in the early years that are then reversed in the future.

	
	
	


D

	
	Question ID: 14968
The following information is regarding as asset a firm purchased for $100,000.
· The asset has a 5-year useful life and no salvage value. 

· The asset generates $30,000 of annual revenue for 5-years 

· Tax rate is 35 percent. 

· The business depreciates the asset over 4 years on a straight-line basis. 

Taxes payable in year 5 are?


	
	A.
	$5250.


	
	B.
	$1750.


	
	C.
	$10500.


	
	D.
	$8750.

	
	
	


B

$30,000 revenue - $25,000 depreciation = $5,000 income
($5,000 income)(.35 tax rate) = $1750 taxes payable
	
	Question ID: 24695
The difference in taxable income and pretax income can result in a deferred tax:


	
	A.
	liability if pretax income is less than taxable income.


	
	B.
	asset or liability if the difference will not reverse in future years.


	
	C.
	asset or liability if the difference will reverse in future years.


	
	D.
	asset if pretax income is more than taxable income.

	
	
	


C

If taxable income (on tax returns) is less than the pretax income (on financial statements) and the cause of this difference will reverse in the future, then a deferred tax liability is created. If taxable income is more than pretax income and the difference will reverse in future years, then a deferred tax asset is created.
	
	Question ID: 14967
When firms are deferring their tax liability what type of depreciation is present?


	
	A.
	Straight line.


	
	B.
	Depleted.


	
	C.
	Illegal.


	
	D.
	Accelerated.

	
	
	


D

	
	Question ID: 24698
Under SFAS 109, which of the following factors can be a reason for a decrease in deferred tax liabilities?


	
	A.
	An increase in the tax rate.


	
	B.
	A decrease in the tax rate and an increase in deferred tax assets. .


	
	C.
	A decrease in the tax rate.


	
	D.
	An increase in deferred tax assets. 

	
	
	


C

Under SFAS 109, deferred tax liabilities and assets are adjusted to reflect changes in tax rates. The deferred tax liability will decrease when the tax rate has decreased. It can also reduce when the temporary difference between taxable and pretax income is reversed.
	
	Question ID: 24696
A major difference between the deferral method and the liability method is the:


	
	A.
	deferral method is affected by changes in tax rates while the liability method is unaffected by changes in tax rates.


	
	B.
	treatment of changes in tax rates.


	
	C.
	treatment of increases in tax rates.


	
	D.
	treatment of decreases in tax rates.

	
	
	


B

The major difference between the deferral method and the liability method is the treatment of changes in the tax rates. The deferral method uses current tax rates with no adjustment for tax rate changes while the liability method adjusts deferred tax assets and liabilities to reflect the new tax rates. 
	
	Question ID: 24697
Which of the following statements about the liability method of accounting for deferred taxes is FALSE?


	
	A.
	Taxes payable is calculated by multiplying the pretax income by the current tax rate. 


	
	B.
	The focus of the liability method is the balance sheet.


	
	C.
	Deferred tax assets and liabilities result from the calculation of deferred tax expense.


	
	D.
	The estimates of future tax liability are changed if the tax rate is changed. 

	
	
	


C

Differences in taxable and pretax incomes that will reverse in future years result in deferred tax assets and liabilities, not the calculation on deferred tax expense. The focus of the liability method is the balance sheet, as deferred tax assets and liabilities are calculated directly; deferred tax expense used to determine reported income is a consequence of the balance sheet calculations. 
	
	Question ID: 14972

Which of the following statements is FALSE?


	
	A.
	The liability method (SFAS 109) adjusts deferred assets and liabilities for changes in tax rates while the deferral method (APB 11) does not.


	
	B.
	When a deferred tax liability reverses, it means that a cash outflow for taxes is being made.


	
	C.
	A deferred tax asset occurs when pretax income exceeds taxable income.


	
	D.
	Taxable income is a term used for tax reporting, while pretax income is used with financial reporting. 

	
	
	


C

Taxable income exceeds pretax income.
	
	Question ID: 24700
When using the liability method of accounting for deferred taxes, which of the following statements is FALSE?


	
	A.
	Changes in the tax rate are recognized in the reported income the year the change is enacted.


	
	B.
	Taxes payable are affected by changes in deferred taxes.


	
	C.
	Income tax expense = Taxes payable - Change in Deferred tax asset + Change in Deferred tax liability. 


	
	D.
	Deferred taxes are calculated by multiplying the temporary differences by the current tax rate. 

	
	
	


B

Taxes payable are calculated by multiplying the taxable income by the current tax rates and are not affected by the changes in deferred taxes. All other statements are true.
	
	Question ID: 24703
Which of the following statements regarding deferred taxes is FALSE?


	
	A.
	Only those components of deferred tax liabilities that are likely to reverse should be considered a liability.


	
	B.
	If deferred tax liabilities are not included in equity, debt-to-equity ratio will be reduced.


	
	C.
	The effect of using accelerated depreciation methods tends not to reverse.


	
	D.
	For financial analysis, the deferred taxes should be carried at present value. 

	
	
	


B

When deferred tax liabilities are included in equity, it will reduce the debt-to-equity ratio (by increasing the denominator), in some cases considerably.
	
	Question ID: 24710
Which of the following is least likely to be affected by classification of deferred taxes as a liability or equity?


	
	A.
	Return on equity (ROE).


	
	B.
	Debt-to-total assets.


	
	C.
	Debt-to-equity.


	
	D.
	Return on assets (ROA).

	
	
	


D

The ROA will not be affected by the classification of the deferred taxes. The total assets will remain the same regardless of whether the deferred taxes are classified as a liability or equity. 
	
	Question ID: 24706
Which of the following factors will NOT impact the classification of deferred tax liabilities?


	
	A.
	Changes in tax laws. 


	
	B.
	Present value of the future payments.


	
	C.
	Growth of the firm.


	
	D.
	Changes in firm operations.

	
	
	


B

The present value of the future payments will not impact the classification of deferred tax liabilities. Growth of the firm, changes in tax laws and the firm’s operations can all have an impact on classification of deferred tax liabilities. These can result in non-payment of deferred taxes even if they are reversed. 
	
	Question ID: 14973

In an analysis of a company's financial leverage, deferred tax liabilities are classified as:


	
	A.
	a liability.


	
	B.
	equity.


	
	C.
	liability or equity, depending on the company's particular situation.


	
	D.
	neither as a liability, nor as equity. 

	
	
	


C

Depends on the "performance" of the timing difference.
	
	Question ID: 24708
Deferred tax liabilities might be considered neither a liability nor equity, when:


	
	A.
	non-reversal is certain.


	
	B.
	financial statement depreciation is inadequate.


	
	C.
	they are likely to result in cash out flow. 


	
	D.
	some components are likely to reverse and some components will grow. 

	
	
	


B

In some cases, an analyst will not consider the deferred tax liabilities either liability or equity. This is done if non-reversal is uncertain or when financial statement depreciation is deemed inadequate and, therefore, is difficult to justify increasing stockholder’s equity.
	
	Question ID: 24702
For the purpose of financial analysis, an analyst should:


	
	A.
	determine the treatment of deferred tax liabilities on a case-by-case basis.


	
	B.
	always ignore deferred tax liabilities completely.


	
	C.
	always consider deferred tax liabilities as a liability.


	
	D.
	always consider deferred tax liabilities as stockholder's equity.

	
	
	


A

For financial analysis, an analyst must decide on the appropriate treatment of deferred taxes on a case-by-case basis. These can be classified as liabilities or stockholder’s equity, depending on various factors. Sometimes, deferred taxes are just ignored altogether.
	
	Question ID: 24715
Which of the following will NOT result in a permanent difference in taxable and pretax income?


	
	A.
	Tax-exempt interest expense.


	
	B.
	Goodwill amortization. 


	
	C.
	Tax-exempt interest revenue.


	
	D.
	Post retirement benefit expense.

	
	
	


D

The post retirement benefits will not result in a permanent difference. However, a temporary difference will result if the benefit in pretax income exceeds that allowed for by a deduction on the tax return. Tax-exempt interest expense and revenue, as well as goodwill amortization are all recognized on financial statements but do not affect tax returns and will result in permanent differences.
	
	Question ID: 24721
Permanent differences in taxable and pretax income:


	
	A.
	can be deferred in some cases. 


	
	B.
	are reported on both tax returns and financial statements. 


	
	C.
	are considered as changes in the effective tax rate.


	
	D.
	are reported on tax returns only.

	
	
	


C

The permanent differences are never deferred but are considered increases or decreases in the effective tax rate. If the only difference between the taxable and pretax incomes were a permanent difference, then tax expense would simply be taxes payable.
	
	Question ID: 24725
Temporary differences in taxable and pretax income: 


	
	A.
	result only in current deferred tax assets and liabilities. 


	
	B.
	will always be reversed.


	
	C.
	may result in lower current taxes payable and higher future taxes payable.


	
	D.
	are not reported on the balance sheet.

	
	
	


C

Temporary differences will result in current lower (higher) taxes payable and future higher (lower) taxes payable. These differences will be categorized as deferred tax assets and liabilities and will be stated on the balance sheet. The temporary differences must be reversed, but in some cases management does have discretion over the time and amount of reversal. 
	
	Question ID: 14976

Temporary differences arise when expenses are deductible for tax purposes:


	
	A.
	After They are Recognized
in Income Statement
Before They are Recognized
in Income Statement
Yes
Yes



	
	B.
	After They are Recognized
in Income Statement
Before They are Recognized
in Income Statement
No
Yes



	
	C.
	After They are Recognized
in Income Statement
Before They are Recognized
in Income Statement
Yes
No



	
	D.
	After They are Recognized
in Income Statement
Before They are Recognized
in Income Statement
No
No


	
	
	


A

	
	Question ID: 24723
Which of the following statements regarding differences in taxable and pretax income is TRUE? Differences in taxable and pretax income that: 


	
	A.
	are not reversed for five or more years are called permanent differences.


	
	B.
	result in deferred taxes are called temporary differences. 


	
	C.
	result in deferred taxes are called permanent differences.


	
	D.
	are reversed within two years are called temporary differences.

	
	
	


B

The permanent differences are never reversed, while there is no time limit on temporary differences to reverse. Permanent differences never result in tax deferrals; temporary differences always result in deferred tax assets or liabilities. 
Setup Text: 
	Year:
	1998
	1999
	2000

	Income Statement:

	  
	Revenues after all expenses other than depreciation
	$200
	$300
	$400

	
	Depreciation expense
	   50
	   50
	   50

	
	Income before income taxes
	$150
	$250
	$350

	   

	Tax return:

	  
	Taxable income before depreciation expense
	$200
	$300
	$400

	
	Depreciation expense
	   75
	   50
	   25

	
	Taxable income
	$125
	$250
	$375


Assume an income tax rate of 40 percent
	
	Question ID: 14987
The deferred taxes liability to be shown in the December 31, 1999, balance sheet is:


	
	A.
	$30.


	
	B.
	$10.


	
	C.
	$0.


	
	D.
	$20. 

	
	
	


B

[$60-50]
	
	Question ID: 14987
The deferred tax liability to be shown in the December 31, 2000, balance sheet is:


	
	A.
	$20.


	
	B.
	$10.


	
	C.
	$0.


	
	D.
	$30. 

	
	
	


C

[$10-10]
	
	Question ID: 14977
For the year ended December 31, 2000, Pick Co's pretax financial statement income was $400,000 and its taxable income was $300,000.  The difference is due to the following:
Interest on municipal bonds
$140,000
Premium expense on key person life insurance
$(40,000)
Total
$100,000
Pick's enacted income tax rate is 30 percent.  In its 2000 income statement, what amount should Pick report as current provision for income tax expense?


	
	A.
	$120,000


	
	B.
	$102,000


	
	C.
	$90,000


	
	D.
	$132,000 

	
	
	


C

	
	Question ID: 24677
Camphor Associates uses accrual basis for financial reporting purposes and cash basis for tax purposes. Cash collections from customers is $238,000, and accrued revenue is only $188,000 . Assume expenses at 50 percent in both cases (i.e., $ 119,000 on cash basis and $ 94,000 on accrual basis), and a tax rate of 34 percent. What would be the deferred tax asset/liability in this case? A deferred tax:


	
	A.
	liability of $8,500. 


	
	B.
	asset of $48,960.


	
	C.
	asset of $8,500. 


	
	D.
	liability of $48,960.

	
	
	


C

Since taxable income ($119,000) exceeds pretax income ($94,000), Camphor will have a deferred tax asset of $8,500 = [($119,000 - $94,000)(.34)].
	
	Question ID: 24675
United Technologies uses accrual basis for financial reporting purposes and cash accounting for tax purposes. So far this year, United Technologies has recorded $195,000 in revenue for financial reporting purposes, but, on a cash basis, revenue was only $131,000. Assume expenses at 50 percent in both cases (i.e., $ 97,500 on accrual basis and $ 65,500 on cash basis), and a tax rate of 34 percent. What is the deferred tax liability or asset? A deferred tax:


	
	A.
	liability of $10,880.


	
	B.
	asset of $16,320. 


	
	C.
	asset of $10,880.


	
	D.
	liability of $16,320.

	
	
	


A

Since pretax income ($97,500) exceeds the taxable income ($65,500), United Technologies will have a deferred tax liability of $10,880 = [( $97,500 - $65,500)(.34)]
Setup Text: 
An analyst has gathered the following tax information: 
Year 1
???????????
???????????Year 2
Pretax Income
??
???????????$60,000
$60,000
Taxable Income
?             50,000
??                   65,000
The current tax rate is 40 percent. Assume the tax rate is reduced to 30 percent and the change is enacted at the beginning of Year 2.
	
	Question ID: 24727
Taxes payable in Year 1 are:


	
	A.
	$18,000.


	
	B.
	$20,000.


	
	C.
	$15,000.


	
	D.
	$24,000.

	
	
	


B

Taxes Payable = Taxable Income * Current Tax Rate = $50,000 * 40%= $20,000. The taxes payable will be based on the current tax rate of 40%.
	
	Question ID: 24727
What is the deferred tax liability in Year 1?


	
	A.
	C. $ 2,000.


	
	B.
	B. $1,500.


	
	C.
	D. $4,000.


	
	D.
	A. $3,000.

	
	
	


D

Deferred Tax Liability = (Pretax Income - Taxable Income) * 30% = ($60,000 - 50,000) * 30% = $3,000.

SFAS 109 requires adjustments to deferred tax assets and liabilities to reflect the impact of a change in tax rates or tax laws.
	
	Question ID: 24727
Total Income Tax Expense for Year 1 is:


	
	A.
	C. $18,000.


	
	B.
	B. $17,000.


	
	C.
	D. $24,000.


	
	D.
	A. $23,000.

	
	
	


D

Total Income Tax Expense = Taxes Payable - Deferred Tax Asset + Deferred Tax Liability = $20,000 - 0 + 3,000 = $23,000.
	
	Question ID: 14986
Year:
1998
1999
2000
Income Statement:
  
Revenues after all expenses other than depreciation
$200
$300
$400
Depreciation expense
   50
   50
   50
Income before income taxes
$150
$250
$350
   
Tax return:
  
Taxable income before depreciation expense
$200
$300
$400
Depreciation expense
   75
   50
   25
Taxable income
$125
$250
$375
Assume an income tax rate of 40 percent
The company's income tax expense for 1998 is:


	
	A.
	$0.


	
	B.
	$70.


	
	C.
	$50.


	
	D.
	$60. 

	
	
	


D

[$150(0.40)]

Setup Text: 
A company purchased a new pizza oven directly from Italy for $12,676. It will work for 5 years and has no salvage value. The tax rate is 41 percent, and annual revenues are constant at $7,192. For financial reporting, the straight-line depreciation method is used, but for tax purposes depreciation is accelerated to 35 percent in years 1 and 2, and 30.00 percent in year 3. For purposes of this exercise ignore all expenses other than depreciation. 
	
	Question ID: 24682
What is the tax payable for year one? 


	
	A.
	$1,626.


	
	B.
	$1,130. 


	
	C.
	$779.


	
	D.
	$1,909.

	
	
	


B

Tax payable for year 1 will be $1,130 = [{$7,192 - ($12,676 x .35)} x .41]
	
	Question ID: 24682
What is the deferred tax liability as of the end of year one?


	
	A.
	$1,129


	
	B.
	$1,909 


	
	C.
	$320


	
	D.
	$780

	
	
	


D

The deferred tax liability for year 1 will be $780.
Pretax Income = $4,657 = ( $7,192 - $2,535)
Taxable Income = $2,755 = ($7,192 - $4,437)
Deferred Tax liability = $780 = [($4,657 - $2,755)(.41)]
	
	Question ID: 24682
What is the deferred tax liability as of the end of year three?


	
	A.
	$2,079.


	
	B.
	$1,029.


	
	C.
	$1,909.


	
	D.
	$780.

	
	
	


A

The deferred tax liability at the end of year 3 will be $2,079 = ($780 + $780 + $519).
Pretax Income = $4,657 ( $7,192 - $2,535)
Taxable Income = $3,389 [$7,192 - ($12,676 x .30)]
Deferred Tax liability for year 3 = $519 [($4,657 - $3,389)(.41)]

Deferred Tax liability for year 1 = $780 [($4,657 - $2,755)(.41)]
Deferred Tax liability for year 2 = $780 [($4,657 - $2,755)(.41)]
	
	Question ID: 14985
An analyst gathered the following information about a company:

· Pretax income of $10,000 

· Taxes payable of $2,500 

· Deferred taxes of $500 

· Tax expense of $3,000 

What is the firm's effective tax rate?


	
	A.
	5%.


	
	B.
	30%.


	
	C.
	25%.


	
	D.
	35%. 

	
	
	


B

	
	Question ID: 14965
Which of the following statements about deferred tax liabilities and assets is FALSE?


	
	A.
	Tax rate changes have an impact on deferred tax assets and liabilities.


	
	B.
	Growth of the firm may have a tendency to increase deferred taxes.


	
	C.
	When tax payments increase this means that deferred tax liabilities have reversed.


	
	D.
	If deferred tax liabilities are not expected to reverse they are considered a permanent increase in liabilities.

	
	
	


D

	
	Question ID: 14978
Apex Company, a cash-basis taxpayer, prepares accrual-basis financial statements. In its 2000 balance sheet, Apex's deferred income tax liabilities increased compared with those reported for 1999. Which of the following changes would cause this increase in deferred income tax liabilities?

A. An increase in prepaid utilities. 

B. An increase in rent receivable. 

C. An increase in warranty obligation. 


	
	A.
	Both A and B.


	
	B.
	Both B and C.


	
	C.
	A only.


	
	D.
	C only. 

	
	
	


A

	
	Question ID: 14975
If timing differences that give rise to a deferred tax liability are not expected to reverse then the deferred tax:


	
	A.
	should be carried forward to the next period until the reversal takes place.


	
	B.
	should be considered as a decrease or increase in equity. 


	
	C.
	must be reduced by a valuation allowance.


	
	D.
	should be considered an asset or liability.

	
	
	


B

	
	Question ID: 14997
A firm purchased a piece of equipment for $6000 with the following information provided:
· Revenue will increase by $15,000 per year. 

· The equipment has a 3-year life expectancy and no salvage value. 

· The firm's tax rate is 30%. 

· Straight-line depreciation is used for financial reporting and double declining is used for tax purposes. 

How will the firm will report the deferred taxes on the balance sheet for years 1 and 2?


	
	A.
	Year 1 = 3300, Year 2 = 4100


	
	B.
	Year 1 = 600, Year 2 = 400


	
	C.
	Year 1 = 4500, Year 2 = 4500


	
	D.
	Year 1 = 3900, Year 2 = 3900

	
	
	


B

Using DDB:
	
	Yr. 1
	Yr. 2

	Revenue
	15,000
	15,000

	Dep.
	? 4,000
	? 1,333

	Taxable Inc
	11,000
	13,667

	Taxes Pay
	? 3,300
	? 4,100


?

Using SL:
	
	Yr. 1
	Yr. 2

	Revenue
	15,000
	15,000

	Dep.
	? 2,000
	? 2,000

	Pretax Inc
	13,000
	13,000

	Taxe Exp
	? 3,900
	? 3,900


Deferred taxes year 1 = 3,900 – 3,300 = 600
Deferred taxes year 2 = 3,900 – 4,100 + previously deferred taxes = -200 + 600 = 400
	
	Question ID: 14969
The following information is regarding an asset a firm purchased for $100,000.
· The asset has a 5-year useful life and no salvage value. 

· The asset generates $30,000 of annual revenue for 5-years. 

· Tax rate is 35 percent. 

· The business depreciates the asset over 4 years on a straight-line basis. 

Taxes payable in year 5 are?


	
	A.
	$8750.


	
	B.
	$5250.


	
	C.
	$10500.


	
	D.
	$1750.

	
	
	


C

By year five the asset has been fully depreciated.
$30,000 revenue - $0 depreciation = $30,000 income
($30,000 income)(.35 tax rate) = $10,500
1.B: Analysis of Financing Liabilities
	
	Question ID: 15004

Which of the following statements is FALSE? When a bond is issued at a discount:


	
	A.
	the interest expense will increase over time.


	
	B.
	the interest expense will be equal to the coupon payment plus the amortization of the discount.


	
	C.
	the initial liability listed in the balance sheet will be less than the par value of the bond.


	
	D.
	cash flows from financing will be increased by the par value of the bond issue. 

	
	
	


D

Setup Text: 
A firm issues a $5 million zero coupon with a maturity of four years when market rates are 8 percent.
	
	Question ID: 15012
The initial liability is:


	
	A.
	$4,629,630.


	
	B.
	$3,675,149.


	
	C.
	$5,000,000.


	
	D.
	$3,653,451. 

	
	
	


D

n = 4, i/yr = 8%, PMT = 0, FV = $5,000,000, Compute PV = -$3,673,451.
	
	Question ID: 15012
The value of the liability at the end of 6 months is:


	
	A.
	$5,000,000.


	
	B.
	$3,675,149.


	
	C.
	$3,969,161.


	
	D.
	$3,799,589. 

	
	
	


D

[$3,653,451+{0.04($3653,451)}]
Setup Text: 


A company issued an annual-pay bond with the following characteristics:

· Face value
$67,831 

· Maturity

4 years 

· Coupon

7.00% 

· Market interest rates
8.00%  

  

	
	Question ID: 24687
What is the present value of the interest payments on the date when the bonds are issued?


	
	A.
	$65,582.


	
	B.
	$18,992.


	
	C.
	$15,726.


	
	D.
	$49,857. 

	
	
	


C

Present value of the interest payments on the date of issue is $15,726 = [I/Y = 8.00%, N = 4, PMT = $4,748.17 ($67,831 x .07 ), FV= $0 ]
	
	Question ID: 24687
What is the unamortized discount on the date when the bonds are issued?


	
	A.
	$1,748.


	
	B.
	$2,249.


	
	C.
	$15,729.


	
	D.
	$499.

	
	
	


B

The unamortized discount rate at the time bonds are issued will be $2,249. 
Face value of bonds = $67,831
Proceeds from bond sale = $65,582 [I/Y = 8.00%, N = 4, PMT = $4,748.17 ($67,831 ′ .07 ), FV= $67,831 ]
Unamortized discount = $2,249 ($67,831 - $65,582) 
	
	Question ID: 24687
What is the unamortized discount at the end of the first year?


	
	A.
	$538.


	
	B.
	$2,247.


	
	C.
	$1,209.


	
	D.
	$1,750.

	
	
	


D

The unamortized discount will decrease by $499 at the end of first year and will be $1,750.
Interest expense = $5,247 ($65,582 x .08)
Coupon payment = $4,748 ($67,831 x .07)
Change in discount = $499 ($5,247 - $4,748)
Discount at the end of first year = $1,750 ($2,249 - $499) 
	
	Question ID: 15013
A $1000 bond is issued with an 8.0 percent semiannual coupon rate and 5 years to maturity when market interest rates are 10 percent. What is the initial liability?


	
	A.
	1023.


	
	B.
	855.


	
	C.
	923.


	
	D.
	835.

	
	
	


C

FV=1000; PMT = 80/2; N=5*2; I/Y=10/2; solve for PV = 923.
	
	Question ID: 15016
Which of the following statements about bonds issued at a discount is FALSE?


	
	A.
	Interest expense will equal the cash paid plus the amortization of the discount.


	
	B.
	Cash flow from operations will be overstated and cash flow from financing will be understated.


	
	C.
	The original liability will be higher than the bond's par value.


	
	D.
	Interest expense will have an upward trend for each period.

	
	
	


C

Bonds issued at a discount will have an original liability that is lower than the bond's par value.
	
	Question ID: 24732
A zero coupon bond, compared to a bond issued at par, will have higher:


	
	A.
	debt at the end of the year.


	
	B.
	cash flows from financing (CFF).


	
	C.
	cash flows from operations (CFO).


	
	D.
	interest expense.

	
	
	


C

The zero-coupon bond will have higher cash flows from operations, as the cash interest expense in this case is zero and no cash is paid until maturity. Candidates should remember that any bond issued at a discount will have more cash flow from operations and less cash flow from financing.
	
	Question ID: 15025
A firm issues a $5 million zero coupon with a maturity of four years when market rates are 8 percent.

Proceeds from this issue are:


	
	A.
	$5,000,000.


	
	B.
	$3,675,149.


	
	C.
	$3,653,451.


	
	D.
	$4,629,630. 

	
	
	


C

[FV = $5,000,000; i = 4%; n=8]
	
	Question ID: 24735
If the cash proceeds from a bond issue are held constant, a zero-coupon bond will have:


	
	A.
	a lower cash times interest earned ratio compared to a bond with a coupon.


	
	B.
	a cash times interest earned ratio of zero.


	
	C.
	a lower times interest earned ratio compared to a bond with a coupon.


	
	D.
	the same times interest earned ratio compared to a bond with a coupon.

	
	
	


D

The times interest earned ratio of a zero-coupon bond and a bond issued with a coupon will be the same if the proceeds from the issue are constant. However, the times interest earned on cash basis will be affected. The cash times interest earned ratio will be infinity for a zero-coupon bond, since no cash interest is paid. 
	
	Question ID: 24731
Which of the following debt issues will have the highest cash flows from financing?


	
	A.
	Bonds issued at discount.


	
	B.
	Zero-coupon bond.


	
	C.
	Bonds issued at par.


	
	D.
	Bonds issued at premium.

	
	
	


D

The bonds issued at premium will have the highest cash flows from financing, while bonds issued at par will have higher cash flows from financing than bonds issued at a discount. Candidates should remember that any bond issued at a premium will have more cash flow from financing and less cash flow from operations.
	
	Question ID: 24734
Which of the following statements regarding the issuance of bonds is TRUE? Bonds issued at a:


	
	A.
	premium will have overstated cash flows from operations (CFO).


	
	B.
	discount will have overstated cash flows from financing (CFF).


	
	C.
	discount will have overstated cash flows from operations (CFO).


	
	D.
	premium will have understated cash flows from financing (CFF).

	
	
	


C

Bonds issued at discount will have more cash flows from operations and less cash flows from financing. Thus, CFO is overstated and CFF is understated. Bonds issued at a premium will have overstated CFF and understated CFO. 
	
	Question ID: 24753
Miller Investments has $50,000 in liabilities and $50,000 in stockholders’ equity. If Miller issues debt with warrants of $50,000, and attached warrants are valued at $10,000, the firm’s debt-to-equity ratio after the issue will be:


	
	A.
	1.8.


	
	B.
	2.2.


	
	C.
	2.0.


	
	D.
	1.5.

	
	
	


D

When detachable warrants are issued with bonds, the proceeds must be divided between equity and debt. Proceeds allocated to warrants (value of the warrants) will be treated as equity and the rest as debt. In this case, the debt after the issue is $90,000 = ($50,000 + $40,000) and the equity is $ 60,000 ($50,000 + $10,000). The debt-to-equity ratio will be 1.5 = ($90,000 / $60,000).
	
	Question ID: 15027
How are convertible bonds recorded on the balance sheet when they are first issued and if they are converted?


	
	A.
	Issued
Converted
Liability
Asset



	
	B.
	Issued
Converted
Equity
Liability



	
	C.
	Issued
Converted
Asset
Equity



	
	D.
	Issued
Converted
Liability
Equity


	
	
	


D

	
	Question ID: 15028

Which of the following statements is FALSE?


	
	A.
	When bonds are issued with detachable warrants, proceeds must be divided between the two. Thus, the bonds will be booked at a discount and interest expense will include the amortization of this discount.


	
	B.
	When nonredeemable preferred stock is issued, the proceeds are booked as debt and any discount or premium from par value is amortized to interest expense.


	
	C.
	The convertibility feature of a bond is ignored when the bond is issued, so the entire proceeds of the bond issue are recorded as a liability.


	
	D.
	When a company retires debt before its maturity date any difference between the book value and market value is treated as an extraordinary gain or loss on the income statement. 

	
	
	


B

	
	Question ID: 24754
In analyzing redeemable preferred stock, an analyst is least likely to:


	
	A.
	include it as debt in solvency ratios. 


	
	B.
	treat it as a part of debt for security analysis.


	
	C.
	treat cumulative dividends that are in arrears as equity.


	
	D.
	treat dividend payments as interest.

	
	
	


C

While calculating the net worth of a company with redeemable preferred shares outstanding, the analyst should subtract the liquidating value of the preferred shares and any cumulative dividends that are in arrears. In the case of redeemable preferred stock, an analyst should treat it as debt for analysis, include it as debt in solvency ratios, and treat the dividend payment as interest. 
	
	Question ID: 24751
While analyzing the financial statements, an analyst should:


	
	A.
	treat convertible bonds like debt when the stock price exceeds the conversion price.


	
	B.
	always treat convertible bonds like equity.


	
	C.
	treat convertible bonds like equity when the stock price exceeds the conversion price.


	
	D.
	always treat convertible bonds like debt.

	
	
	


C

When the stock price exceeds the conversion price, convertible bonds should be treated like equity. When the stock price is below the conversion price, convertible bonds should be treated like debt.
	
	Question ID: 24750
While analyzing the financial statements, an analyst should:


	
	A.
	treat convertible bonds like equity when the stock price exceeds the conversion price.


	
	B.
	always treat convertible bonds like debt.


	
	C.
	treat convertible bonds like debt when the stock price exceeds the conversion price.


	
	D.
	always treat convertible bonds like equity.

	
	
	


A

When the stock price exceeds the conversion price, convertible bonds should be treated like equity. When the stock price is below the conversion price, convertible bonds should be treated like debt.
	
	Question ID: 24800
An increase in interest rates is most likely to benefit:


	
	A.
	all firms without any outstanding debt.


	
	B.
	firms that issued debt at a lower cost than current rates.


	
	C.
	all firms with outstanding debt.


	
	D.
	firms that issued debt at a higher cost than current rates.

	
	
	


B

Firms that issued the debt at a lower cost than the current rates will benefit from an increase in interest rates. The higher interest rates will decrease the market value of their outstanding debt.
	
	Question ID: 24798
For purposes of financial analysis, all of the following should be adjusted with a change in interest rate, EXCEPT:


	
	A.
	the value of debt.


	
	B.
	interest expense.


	
	C.
	the value of equity.


	
	D.
	the debt-to-equity ratio. 

	
	
	


B

For the purpose of analysis, the value of debt and equity should be adjusted for a change in interest rates. A change in interest rates will change the debt-to-equity ratio, but the interest expense on the income statement will not be adjusted. Because changes in interest rates will change the market value of the debt, but not the coupon, interest expense will be unchanged.
	
	Question ID: 15031

Changes in market interest rates lead to changes in:


	
	A.
	neither book nor market values.


	
	B.
	book values but not market values.


	
	C.
	book values and market values.


	
	D.
	market values but not book values. 

	
	
	


D

Setup Text: 
Assume a firm issues at par a 5-year bond callable at 1020 when interest rates are 6 percent. At the end of 1 year, interest rates decline to 5 percent.
	
	Question ID: 15035
At the new level of interest rates, the market value of the bond will be:


	
	A.
	$1070.00.


	
	B.
	$1000.00.


	
	C.
	$1035.85.


	
	D.
	$1022.61. 

	
	
	


C

[FV=$1,000; PMT=$30; n=8; i=2.5%]
	
	Question ID: 15035
If the firm calls the bond and replaces it with a 4-year bond issued at par the firm will have an accounting:


	
	A.
	loss of $20 and an economic gain of $15.85.


	
	B.
	loss of $20 and an economic gain of $2.61.


	
	C.
	loss of $20 and an economic loss of $35.85.


	
	D.
	gain of $20. 

	
	
	


A

[Accounting loss=$1,020-1,000; Economic gain = $1,035.85-1,020]
	
	Question ID: 24804
When a firm retires debt prior to maturity, the recorded extraordinary gain or loss is the difference between the:


	
	A.
	market value of retired debt and the new debt issued. 


	
	B.
	market value and the actual amount paid.


	
	C.
	book value and the market value.


	
	D.
	book value and the actual amount paid. 

	
	
	


D

Under SFAS 4, when firms retire debt prior to maturity, the difference between the book value and the actual amount paid at retirement is treated as an extraordinary gain or loss on the income statement. The market value may be different than the actual amount paid at retirement (e.g., bonds with call options). 
	
	Question ID: 24806
Which of the following statements regarding refinancing debt is TRUE? When a firm gains from refinancing debt, the:


	
	A.
	amount of economic and accounting gain is always the same.


	
	B.
	timing of economic and accounting gain is always the same.


	
	C.
	amount and timing of economic and accounting gain is always the same.


	
	D.
	amount and timing of economic and accounting gain may be quite different.

	
	
	


D

The amount and timing of accounting and economic gain may be quite different. For example, retirement of a callable bond may result in economic profits but may also generate a loss for accounting purposes. 
	
	Question ID: 24807
On January 1, 2001, Baker & Barnes issued callable bonds at par with a face value of $100 and a call price of $102. If the current market price of the bond is $108, calling the bond will result in an accounting:


	
	A.
	gain and economic loss. 


	
	B.
	loss and economic gain.


	
	C.
	and economic gain.


	
	D.
	and economic loss.

	
	
	


B

If Baker & Barnes calls the bond, it will pay $102 for the bonds that have a market value of $108. This will result in an economic gain of $6 ($108 - 102 = $6) and an accounting loss $2 ($102 - 100 = $2) as the actual payment is more than the book value.
	
	Question ID: 24803
A firm may retire debt prior to maturity:


	
	A.
	when cash flows from operations decrease.


	
	B.
	when interest rates are declining, cash flows from operations increase,or the firm decides to reduce financial leverage.


	
	C.
	only when the firm decides to reduce financial leverage.


	
	D.
	only when interest rates are declining.

	
	
	


B

Declining interest rates permit a reduction in interest costs. Increasing cash from operations permits debt retirement earlier than expected. A firm can generate funds from the sale of assets or issuing equity that can be used to retire debt and reduce leverage.
	
	Question ID: 24805
A firm that replaces low coupon debt when interest rates are higher will:


	
	A.
	recognize an extraordinary loss.


	
	B.
	have a higher effective interest rate.


	
	C.
	have a lower effective interest rate.


	
	D.
	recognize an extraordinary gain. 

	
	
	


D

When a firm replaces low coupon debt when interest rates are higher, the market value of the debt will be lower then par value. It will result in a gain that is recognized as an extraordinary gain. In reality, the firm is no better off as a result of refinancing. Its effective interest rate will remain the same, just replacing low coupon debt with high coupon debt. 
	
	Question ID: 15029

If a firm has straight debt worth $15 million, convertible debt worth $3 million, and $27 million in equity and the stock price exceeds the conversion price, the best debt-to-equity ratio for the purpose of analysis is:


	
	A.
	0.556.


	
	B.
	0.111.


	
	C.
	0.200.


	
	D.
	0.500. 

	
	
	


D

	
	Question ID: 15026
Which of the following statements regarding zero-coupon bonds is TRUE?


	
	A.
	The discount rate used to value the bond is the current market interest rate.


	
	B.
	A company should initially record zero-coupon bonds at their discounted present value.


	
	C.
	Interest expense is a combination of operating and financing cash flows.


	
	D.
	The interest expense in each period is found by applying the discount rate to the book value of debt at the end of the period.

	
	
	


B

Zero coupon bonds typically sell at a discount, interest expense is found by applying the discount rate to the book value of debt at the beginning of the period, there is no deduction from cash flow from operations for a zero coupon bond, and the discount rate used to value the bond is the company's normal borrowing rate
	
	Question ID: 15020
Assume a city issues a $5 million bond to build a new arena. The bond pays 8 percent semiannual interest and will mature in 10 years. Current interest rates are 9 percent. What is the present value of this bond?


	
	A.
	5,541,367.


	
	B.
	4,815,544.


	
	C.
	4,402,886.


	
	D.
	4,674,802.

	
	
	


D

Since the current interest rate is above the coupon rate the bond will be issued at a discount. FV = $5,000,000 N = 20 PMT = (.04)(5 million) = $200,000 I/Y = 4.5 Compute PV = $-4,674,802
	
	Question ID: 15032

Assume a firm issues debt when market interest rates are low. If all market rates rise and bond prices decline the shareholders of the firm will be relatively:


	
	A.
	better off.


	
	B.
	unaffected by the interest rate change.


	
	C.
	Cannot answer with the information given.


	
	D.
	worse off. 

	
	
	


A

	
	Question ID: 15005

Interest expense is reported on the income statement as a function of:


	
	A.
	the market rate.


	
	B.
	operating profit.


	
	C.
	the unamortized bond discount.


	
	D.
	the coupon payment. 

	
	
	


A

	
	Question ID: 15006

The actual coupon payment on a bond is reported on the statement of cash flow as:


	
	A.
	a financing cash outflow.


	
	B.
	an operating cash outflow.


	
	C.
	a business cash outflow.


	
	D.
	an investing cash outflow. 

	
	
	


B

	
	Question ID: 15021
Assume a city issues a $5 million bond to build a new arena. The bond pays 8 percent semiannual interest and will mature in 10 years. Current interest rates are 9 percent. What is the interest expense in the second period?


	
	A.
	$106,552.


	
	B.
	$80,000.


	
	C.
	$123,644.


	
	D.
	$210,831.

	
	
	


D

Step 1 compute the present value of the bond: Since the current interest rate is above the coupon rate the bond will be issued at a discount. FV = $5,000,000, N = 20, PMT = (.04)(5 million) = $200,000, I/Y = 4.5, Compute PV = $-4,674,802
Step 2 compute the interest expense at the end of the first period =(.045)(4,674,802) = $210,336
Step 3 compute the interest expense at the end of the second period = 
(new balance sheet liability)(current interest rate)=
$4,674,802 + $10,336 = $4,685,138 new balance sheet liability
(.045)(4,685,138) = $210,831
	
	Question ID: 15014
A corporate bond with the following data is issued:
  $1000 par value. 

  8.0 percent semiannual coupon payments. 

  5 years to maturity. 

  Market interest rates are 10 percent. 

What is the total interest expense?


	
	A.
	545.


	
	B.
	923.


	
	C.
	477.


	
	D.
	835.

	
	
	


C

Total interest expense is the difference between the amount paid by the issuer and the amount received from the bondholder.
[($40 coupon payments)(10 periods) + $1000 par value] – $923 present value of the bond = 477
Present value of the bond is computed as follows: FV = 1000 PMT = [(1000)(.08)]/2 = 40 I/Y = 5 N = 10 Compute PV = -923
	
	Question ID: 15023
A bond is issued with the following data:
  $10 million face value. 

  9% coupon rate. 

  8% market rate. 

  3-year bond with semiannual payments. 

What is the present value of the bond?


	
	A.
	$10,000,000.


	
	B.
	$10,262,107.


	
	C.
	$10,138,754.


	
	D.
	$7,981,336.

	
	
	


B

FV = 10,000,000 PMT = 450,000 I/Y = 4 N = 6 Compute PV = -10,262,107
1.C: Leases and Off-Balance Sheet Debt --and-- Financial Reporting by Lessors and for Sale Leasebacks
	
	Question ID: 15044

The Jolivette Corporation entered into a 5-year lease that requires payments of $10,000 per year. If the lease is classified as an operating lease, which financial statements are affected at the end of one period?


	
	A.
	Statement of cash flows and income statements.


	
	B.
	Statement of cash flows, income statements, and balance sheet.


	
	C.
	Income statements and balance sheet.


	
	D.
	Statement of Cash flows. 

	
	
	


A

The balance sheet is not affected, but there is a rental expense that affects the income statement and the statement of cash flows (through the rental expense deducted to arrive at net income).
	
	Question ID: 15045
The Newton Company has leased equipment for a period of 10 years with the following provisions:
· Lease payments                  $5,000 per year 

· Current value of equipment         $45,000 

· Estimated useful life of equipment   15 years 

· Salvage value                    no salvage value after 15 years 

At the end of ten years, Scooter has the option to buy the equipment for $15,000. The discount rate is 10 percent. Scooter should:


	
	A.
	treat this lease as an operating lease.


	
	B.
	capitalize this lease because the lease term is less than 75% of the economic life of the equipment.


	
	C.
	capitalize this lease because it involves a bargain purchase.


	
	D.
	capitalize this lease because the present value of the lease payments exceeds 90% of its fair market value. 

	
	
	


A

	Criterion
	? Qualify as a capital lease?

	The title? is transferred to the leassee at the end of the lease period:
	? No

	A bargain purchase option exists:
	? No

	The lease period is at least 75 percent of the asset's life:
	? No

	The present value of the lease payments is at least 90% of the fair value of the asset:
	? No 

? PV = $30,723 < 90% of $45,000 = $40,500


	
	Question ID: 24809
A lease will be classified as a capital lease if:


	
	A.
	A. a bargain purchase option exists.


	
	B.
	B. the lease period is less than 75% of the asset’s life.


	
	C.
	D. the present value of the lease payments exceeds 80% of the fair value of the leased property to the lessor.


	
	D.
	C. the title is not transferred to the lessee at the end of the lease period.

	
	
	


A

The lease would be classified as a capital lease if it meets just one of the following criteria:

1. A bargain purchase option exists.
2. The lease period is at least 75% of asset’s life.
3. The title is transferred to the lessee at the end of the lease period
4. The present value of the lease payments are equal to or exceed 90% of the fair value of the leased property to the lessor. 
	
	Question ID: 15039
Assume the following capital lease:

· Present value (PV) of lease payments at 12 percent is $25,000. 

· The leased asset is depreciated straight line over 6 years. 

· The lease payment is $6,000. 

· The first payment of $6,000 is to be paid at the end of the year. 

On a before tax basis, the income reported under capital lease compared with that reported under an operating lease for the first year will be:


	
	A.
	-$1,167.


	
	B.
	$1,167.


	
	C.
	$3,000.


	
	D.
	-$3,000. 

	
	
	


A

	Capital Lease
	
	Operating Lease
	

	Interest expense
	$3,000
	Rental expense
	$6,000

	Amortization expense
	$4,167
	

	Total: 
	$7,167
	Total : 
	$6,000


Capital lease total expense ¨C Operating lease total expense = $1,167
	
	Question ID: 15047
Operating and capital leases are recorded on financial statements as:


	
	A.
	Operating lease
Capital lease
Liability
Depreciation



	
	B.
	Operating lease
Capital lease
Expense
Liability



	
	C.
	Operating lease
Capital lease
Expense
Equity



	
	D.
	Operating lease
Capital lease
Depreciation
Asset


	
	
	


B

Operating leases are recorded as rent expense on the lessee's income and cash flow from operations statements. Capital leases are recorded on the lessee's balance sheet as an asset and liability and depreciated on the income statement with cash flow from operations reduced by the interest expense and cash flow from financing reduced by the principal payment.
	
	Question ID: 15057

Which of the following statements about leases is TRUE?


	
	A.
	When a lease is capitalized, the firm will initially experience lower net income and later experience higher net income than it would had the lease been expensed.


	
	B.
	If the present value of the minimum lease payments equals or exceeds 90% of the fair market value of the asset the lease should be treated as an operating lease.


	
	C.
	Lease capitalization decreases operating cash flows in the early years of the lease.


	
	D.
	If a lease is capitalized rather than expensed the firm's current ratio will increase. 

	
	
	


A

	
	Question ID: 15069

The Ewing Corporation has leased equipment for 10 years. Annual payments of $100,000 are required at the end of each year. This lease is classified as a capital lease. If the appropriate discount rate is 5 percent, what is the amount recorded as interest expense for the second year?


	
	A.
	$32,316.


	
	B.
	$38,609.


	
	C.
	$35,539.


	
	D.
	$50,000. 

	
	
	


C

Interest expense = (0.05) $710,782 = $35,539
	
	Question ID: 15067

For a given lease payment and term, which of the following is INCORRECT regarding the effects of the classification of the lease as a capital lease as compared to an operating lease?


	
	A.
	The debt-to-equity ratio will be higher for a capital lease, as compared to an operating lease.


	
	B.
	The return on equity will be lower for a capital lease, as compared to an operating lease.


	
	C.
	The current ratio will be higher for a capital lease, as compared to an operating lease.


	
	D.
	The asset turnover will be lower for a capital lease, as compared to an operating lease. 

	
	
	


C

The current ratio will be lower because the current portion of the capital lease increases current liabilities, hence reducing the current ratio.

Setup Text: 
The LL Company has leased a machine for 10 years. The lease requires payments of $100,000 at the end of each year. The implicit interest rate of this lease is 5 percent.
	
	Question ID: 15059
The present value of this lease is:


	
	A.
	$823,452.


	
	B.
	$1,000,000.


	
	C.
	$614,457.


	
	D.
	$772,173. 

	
	
	


D

PMT=$100,000
n=10
i=5%
solve for PV
	
	Question ID: 15059
If LL classifies this lease as a capital lease, the carrying value of the lease at the end of the second year is:


	
	A.
	$617,739.


	
	B.
	$646,321.


	
	C.
	$614,457.


	
	D.
	$723,411. 

	
	
	


A

$772,173.49 – (2) $77,217.35
	
	Question ID: 15059
If LL classifies this lease as a capital lease, the amount of the liability reported on the balance sheet in the second year is:


	
	A.
	$614,457.


	
	B.
	$617,739.


	
	C.
	$723,411.


	
	D.
	$646,321. 

	
	
	


D

Liability, less two periods of principal repayment:

$772
173.40-61

391.33-64
460.89
	
	Question ID: 15074
The Camden Company has just leased the follow piece of equipment: 

  Market value of $200,000. 

  Useful life of 5 years with no salvage value. 

  Lease term is 4 years. 

  Annual lease payment is $30,000 and the lease rate is 11%. 

  The company’s overall borrowing rate is 9.5%. 

  The firm can purchase the equipment at the end of the lease period for $45,000. 
What amount should be recorded on lessee's balance sheet?


	
	A.
	$96,134.


	
	B.
	$127,435.


	
	C.
	$122,716.


	
	D.
	$93,073.

	
	
	


A

Use the lower of the company's lease rate or the borrowing rate of 9.5% for I/Y.
I/Y=9.5, N=4, FV=0, PMT=$30000, compute PV=$96,134. 
	
	Question ID: 24813
A firm is most likely to use an operating lease than a capital lease, when it:


	
	A.
	does not have debt covenants.


	
	B.
	is very profitable. 


	
	C.
	has a high debt-to-equity ratio.


	
	D.
	wants to increase total cash flows.

	
	
	


C

A firm with a high debt-to-equity ratio is more likely to use an operating lease instead of a capital lease. Use of an operating lease avoids the recognition of debt on the lessee’s balance sheet and will not increase the debt-to-equity ratio. 
	
	Question ID: 15079

One criterion for a capital lease is that the term of the lease must equal a minimum percentage of the leased property's economic life at the inception of the lease. The minimum percentage is:


	
	A.
	90%.


	
	B.
	50%.


	
	C.
	75%.


	
	D.
	41%. 

	
	
	


C

	
	Question ID: 24693
If a firm chooses a capital lease over an operating lease, it can expect to have a:


	
	A.
	higher debt-to-equity ratio.


	
	B.
	lower debt-to-equity ratio.


	
	C.
	lower deprecation expense. 


	
	D.
	higher profitability ratio.

	
	
	


A

Leasing the asset with an operating lease avoids recognition of the debt on the lessee’s balance sheet. Having fewer assets and liabilities on the balance sheet than would exist if the assets were purchased increases profitability ratios (e.g., return on assets) and decreases leverage ratios (e.g., debt-to-equity ratio). In the case of a capital lease, the assets are reported on the balance sheet and are depreciated.
	
	Question ID: 24814
Which of the following statements about operating leases is TRUE? An operating lease is the best choice when:


	
	A.
	the lessee expects to use the asset for more than the useful life of asset.


	
	B.
	at the end of the lease, the lessee may be better able to sell the asset than the lessor. 


	
	C.
	the lessee has bond covenants relating to financial policies.


	
	D.
	management compensation is not based on returns on invested capital.

	
	
	


C

If the lessee has bond covenants (e.g., debt-to-equity ratio) relating to its financial policies that it must follow, it is best to have an operating lease due to the fact that the operating lease will keep the asset off of the balance sheet resulting in less liabilities
	
	Question ID: 24811
Tax benefits from a lease will be realized if the lessor is:


	
	A.
	a tax-exempt entity.


	
	B.
	in a lower tax bracket and the lessee is in a higher tax bracket.


	
	C.
	in the same tax bracket as the lessee. 


	
	D.
	in a higher tax bracket and the lessee is in a lower tax bracket.

	
	
	


D

Tax benefits are realized if the lessee is in a lower tax bracket and the lessor is in higher tax bracket. The lessor will be able to retain greater tax benefits (depreciation) from owning the assets. 
	
	Question ID: 24701
In a take-or-pay contract:


	
	A.
	input prices are always related to market prices. 


	
	B.
	the purchasing firm commits to buying a minimum quantity of an input over a specified time period.


	
	C.
	the purchasing firm commits to buying up to a maximum quantity of an input over a specified time period.


	
	D.
	input prices are always fixed.

	
	
	


B

In a take-or-pay contract, the purchasing firm commits to buying a minimum quantity of an input over a specified period of time. The prices may be fixed by contract or related to market prices. 
	
	Question ID: 24716
Under SFAS 94, the assets and liabilities of a financial subsidiary do NOT have to be consolidated when the parent company owns:


	
	A.
	less than 55% of the subsidiary.


	
	B.
	less than 60% of the subsidiary.


	
	C.
	less than 50% of the subsidiary.


	
	D.
	50% or less of the subsidiary.

	
	
	


C

The parent company is not required to consolidate the statements of the financial subsidiary if it owns less than 50% of the subsidiary. 
	
	Question ID: 24704
Which of the following is least likely to be considered an off balance sheet debt?


	
	A.
	Sale of receivables.


	
	B.
	Debt through finance subsidiaries.


	
	C.
	Capital lease.


	
	D.
	Take-or-pay contract.

	
	
	


C

At the inception of a capital lease, the leased asset and liability is recognized on the balance sheet. Take-or-pay contracts, sales of receivables, and assets and liabilities of minority owned subsidiaries are example of off balance sheet financing.
	
	Question ID: 15082
What type of lease involves all profits as interest revenue?


	
	A.
	Sales-type lease.


	
	B.
	Capital lease.


	
	C.
	Direct financing lease.


	
	D.
	Operating lease.

	
	
	


C

Also, if the lease is a capital lease and the lessor is not a dealer in the leased asset the lease is a direct financing lease. 
	
	Question ID: 24712
Which of the following statements about the sale of receivables is FALSE? 


	
	A.
	The seller is allowed to use the proceeds to reduce debt. 


	
	B.
	Accounts receivable reported on the balance sheet are reduced after the sale.


	
	C.
	After the sale, the buyer receives the payments directly from the customer.


	
	D.
	Sales of receivables may be recorded as sales under U.S. GAAP.

	
	
	


C

The firm that sells receivables continues to service the original receivables; it receives payments from its customers but transfers those funds to the new owner of the receivables. Under U.S. GAAP the sale of receivables decreases accounts receivable and increases cash from operations.
Setup Text: 

An analyst gathered the following information from the financial statements of Abacus Trading Company for the year ending December 31, 2000: 
 Debt                             $1,000,000
Equity                           $   500,000
Debt-to-equity ratio                 2.0  
EBIT                            $   200,000
Interest expense            $     50,000
Coverage ratio                            4.0
 
The amount of receivables sold during this period was $150,000 and was not used to retire debt. Also, the sale has not transferred the risk of the receivables. The analyst is trying to make adjustments to the financial statements to reflect off balance sheet activities. 
	
	Question ID: 24720
Considering this information above, to adjust the effects of off balance sheet financing on cash flows, an analyst should:


	
	A.
	increase the cash flows from operations.


	
	B.
	increase the cash flows from investing.


	
	C.
	increase the cash flows from financing.


	
	D.
	decrease the cash flows from investing

	
	
	


C

The cash flow statement needs to be adjusted by reducing the cash flow from operations and increasing the cash flows from financing by the amount of receivables sold. The total cash flows over the life of the receivables and cash flows from investing are not affected.
	
	Question ID: 24720
The debt-to-equity ratio after adjusting for the sale of receivables will be:


	
	A.
	1.54.


	
	B.
	2.80.


	
	C.
	2.30.


	
	D.
	1.70.

	
	
	


C

The debt after adjustment will be $1,150,000 and the debt-to-equity ratio will be 2.30 ($1,150,000 / $500,000).
	
	Question ID: 24720
Assuming an interest rate of 10 percent, the adjusted coverage ratio will be:


	
	A.
	3.70.


	
	B.
	3.31.


	
	C.
	3.08.


	
	D.
	4.30.

	
	
	


B

To adjust the coverage ratio interest expense, $15,000 = ($150,000 ′ 10 %) is added to both EBIT ($200,000 + $15,000= $215,000) and interest expense ($50,000 + $15,000 = $65,000). Therefore, net income will not be affected but the coverage ratio will be adjusted. The adjusted coverage ratio is 3.31 ($215,000 / $65,000).
Setup Text: 
The following information is available from the balance sheet of the Emory Corporation for the period ending December 31, 2000:
                                                (in millions)            
Total debt                                      $300
Stockholders’ equity                      $180
Debt-to-equity ratio                        1.67     
 
Using the information from the footnotes, an analyst has also estimated the following information:
Present value of take-or-pay obligations                    $ 78 million
Present value of obligations to third parties                  $ 30 million
	
	Question ID: 24779
After making adjustments for off-balance sheet financing, the total debt will be:


	
	A.
	$330 million.


	
	B.
	$348 million.


	
	C.
	$378 million.


	
	D.
	$408 million.

	
	
	


D

To reflect the true level of debt, an analyst must add both take-or-pay and third party obligations. The total of these obligations is $108 million ($78 + $30) and the total debt after adjustments will be $408 million ($300 + $108).
	
	Question ID: 24779
Debt-to-equity ratio after the adjustments will be:


	
	A.
	1.93.


	
	B.
	1.83.


	
	C.
	2.27.


	
	D.
	2.10.

	
	
	


C

The debt-to-equity ratio will increase to 2.27 ($408/ $180).
	
	Question ID: 24799
In a direct financing lease, the implicit rate is such that the present value of the minimum lease payments (MLPs):


	
	A.
	is lower than the cost of the leased asset.


	
	B.
	is higher than the cost of the leased asset.


	
	C.
	equals the sale price of the leased asset.


	
	D.
	equals the cost of the leased asset.

	
	
	


D

In a direct financing lease, the implicit rate is such that the present value of the MLPs equals the cost of the leased asset. Thus, at lease inception the total assets do not change and no gain is recognized.
	
	Question ID: 24817
Assuming all other factors are constant, a sales-type lease will result in higher: 


	
	A.
	interest revenue as compared to a direct financing lease. 


	
	B.
	total cash flows. 


	
	C.
	cash flow from operations (CFO) as compared to a direct financing lease. 


	
	D.
	cash flow from investing (CFI) as compared to a direct financing lease. 

	
	
	


D

The sales-type lease has higher CFI (collection of lease receivable is considered a CFI) and lower CFO (interest revenue is considered a CFO) as compared to a direct financing lease. This results from the difference in the implicit rate among the two lease types. 
	
	Question ID: 24788
A lessor will record a lease as a sales-type lease when:


	
	A.
	it is a dealer or seller of the leased equipment. 


	
	B.
	it is a dealer or seller of the leased equipment, and the lease is an operating lease.


	
	C.
	it is a dealer or seller of the leased equipment and the lease is a capital lease.


	
	D.
	the lease is an operating lease.

	
	
	


C

If a lease is a capital lease and the lessor is the dealer or seller of the leased equipment, then the lease is a sales-type lease on the books of the lessor. This means that the implicit interest rate is such that the present value of the minimum lease payments is the selling price of the lease asset.
	
	Question ID: 24816
Interest revenue is lower in a sales-type lease as compared to a direct financing lease because the:


	
	A.
	implicit interest rate is higher.


	
	B.
	net receivables are lower. 


	
	C.
	net receivables are higher.


	
	D.
	implicit interest rate is lower.

	
	
	


D

In a sales-type lease, the implicit interest rate is such that the present value of the minimum lease payments (MLPs) are equal to the sale price of the leased asset. In the case of a direct financing lease, that present value of the MLPs is equal to the cost of the leased assets. The CFO (interest revenue) is lower and the CFI (payment of receivable) is higher for the sales-type lease and vice versa for the direct operating lease. Therefore, the implicit interest is lower in the case of a sales-type lease and so are the interest revenues (interest revenues equals the implicit rate times the net lease receivables). 
	
	Question ID: 24793
In a sales-type lease, a lessor recognizes a gross profit at the inception of the lease equaling:


	
	A.
	the present value of interest revenues over the lease period. 


	
	B.
	the sale price of the leased asset less the present value of the minimum lease payments (MLP). 


	
	C.
	the present value of the minimum lease payments (MLP) less the cost of the leased asset.


	
	D.
	the sale price of the leased asset plus the present value of the minimum lease payments (MLP). 

	
	
	


C

In a sales-type lease, the implicit interest rate is such that the present value of MLP is the selling price of the asset. At the time of the lease inception, the lessor will recognize a gain equaling the present value of the MLPs, less the cost of the leased asset. 
	
	Question ID: 24796
Which of the following statements regarding a direct financing lease is FALSE?


	
	A.
	The lessor is not a dealer or seller of the leased assets.


	
	B.
	A direct financing lease is a capital lease.


	
	C.
	The implicit rate is such that the present value of the minimum lease payments equals the cost of the leased asset.


	
	D.
	Interest revenue equals the implicit interest rate times the lease payment. 

	
	
	


D

Interest revenues are calculated by multiplying the implicit interest rate by net receivables at the beginning of the period. 
	
	Question ID: 15081
What is an advantage of an operating lease over a capital lease? An operating lease:


	
	A.
	is depreciated on the income statement.


	
	B.
	does not appear on the balance sheet.


	
	C.
	has no risk involved since the lessor assumes all risk.


	
	D.
	has payments that are less than a capital lease's payments.

	
	
	


B

Having less assets and liabilities on the balance sheet than would exist if the asset were purchased increases profitability ratios (e.g., return on assets) and decreases leverage ratios (e.g., the debt to equity ratio).
	
	Question ID: 15065
Assume the following capital lease:

· Present value (PV) of lease payments at 12 percent is $25,000. 

· The leased asset is depreciated straight line over 6 years. 

· The lease payment is $6,000. 

The first payment of $6,000 is to be paid at the end of the year.

What is the second year's interest expense and principal payment?


	
	A.
	Interest Expense
Principal Payout
$1,527
$4,473



	
	B.
	Interest Expense
Principal Payout
$2,640
$3,360



	
	C.
	Interest Expense
Principal Payout
$3,000
$3,000



	
	D.
	Interest Expense
Principal Payout
$0
$6,000


	
	
	


B

Year 1 interest expense equals $3,000

Year 2 interest expense equals 12.00% times $22,000 equals $2,640

Year 2 principal payment equals $6,000 minus $2,640 equals $3,360

	
	Question ID: 15050
A company leases the follow piece of equipment: 

  Market value of $200,000. 

  Useful life of 5 years with no salvage value. 

  Lease term is 4 years. 

  Annual lease payment is $30,000 and the lease rate is 11%. 

  The company’s overall borrowing rate is 9.5%. 

  The firm can purchase the equipment at the end of the lease period for $45,000. 
What type of lease is this?


	
	A.
	Long term.


	
	B.
	Operating.


	
	C.
	Financing.


	
	D.
	Capital.

	
	
	


D

The 4 year lease term is greater than 75% of the asset's 5 year life making this a capital lease.
	
	Question ID: 15040
Assume the following capital lease:

· Present value (PV) of lease payments at 10 percent is $25,000. 

· The leased asset is depreciated straight line over 5 years. 

· The lease payment is $6,000. 

· The first payment of $6,000 is to be paid at the end of the year. 
On a before tax basis, the income reported under capital lease compared with that reported under an operating lease for the first year will be:


	
	A.
	$1,500.


	
	B.
	$2,500.


	
	C.
	-$1,500.


	
	D.
	-$2,500. 

	
	
	


C

	Capital Lease
	
	Operating Lease
	

	Interest expense
	$2,500
	Rental expense
	$6,000

	Amortization expense
	$5,000
	

	Total: 
	$7,500
	Total : 
	$6,000


Capital lease total expense – Operating lease total expense = $1,500
	
	Question ID: 15054
Which of the following statements that classify a lease as a capital lease is FALSE?


	
	A.
	A bargain purchase option exists.


	
	B.
	Title is transferred at the end of the lease period.


	
	C.
	The lease period is at least 75 percent of the useful life of the lease.


	
	D.
	The present value of the lease payments is at least 80 percent.

	
	
	


D

For a lease to be classified as a capital lease the present value of the lease payments must be at least 90 percent.
	
	Question ID: 15056

If a lease is capitalized, as compared to being treated as an operating lease, effect on the current ratio and the debt/equity ratio will be:


	
	A.
	Current Ratio
Debt/Equity Ratio
increase
decrease



	
	B.
	Current Ratio
Debt/Equity Ratio
decrease
increase



	
	C.
	Current Ratio
Debt/Equity Ratio
decrease
decrease



	
	D.
	Current Ratio
Debt/Equity Ratio
increase
increase


	
	
	


B

	
	Question ID: 15038

For a capital lease, the amount recorded initially by the lessee as a liability should normally:


	
	A.
	equal the present value of the minimum lease payments at the beginning of the lease.


	
	B.
	be less than the total of the minimum lease payments.


	
	C.
	equal the total of the minimum lease payments.


	
	D.
	exceed the present value of the minimum lease payments at the end of the lease. 

	
	
	


A

	
	Question ID: 15062

Which of the following statements is FALSE regarding the effect of a capital lease on the statement of cash flows?


	
	A.
	The lease amortization is an expense and, therefore, serves to reduce the cash flow from operations through its effect on net income.


	
	B.
	The change in the capital lease liability on the balance sheet is a cash flows for financing.


	
	C.
	The rental expense serves to reduce the cash flow for financing because it is an investment expense.


	
	D.
	The effect on the cash flow components is different for capital leases and operating leases, but the total effect on cash flow is the same for these two types of leases. 

	
	
	


C

	
	Question ID: 15061
The LL Company has leased a machine for 10 years. The lease requires payments of $100,000 at the end of each year. The implicit interest rate of this lease is 5 percent.

Compared to an operating lease that also requires a $100,000 rental payment, the capital lease results in which of the following?


	
	A.
	A reduction in cash flows on the statement of cash flows that is less than the $100,000 reduction by the operating lease rental expense.


	
	B.
	A sum of the amortization and interest expense in the first year that exceeds the $100,000.


	
	C.
	A sum of the amortization and interest expense in the first year that is less than $100,000.


	
	D.
	A reduction in cash flows on the statement of cash flows that exceeds the $100,000 reduction by the operating lease rental expense. 

	
	
	


B

	
	Question ID: 24694
A lessee had a 15-year capital lease requiring equal annual payments. The reduction of lease liability in year 6 should equal:


	
	A.
	the current liability shown for the lease at the end of year 6.


	
	B.
	the reduction of the lease obligation in year 6.


	
	C.
	one 15th of the original lease liability.


	
	D.
	the current liability shown for the lease at the end of year 5.

	
	
	


D

There are two components of lease obligation, current and noncurrent, reported as liabilities for a capital lease. The current component is the principal portion of the lease payment to be made in the following year.
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